
h´ x r Hx

1008,4 0,83 1793,9 2497,337

md (t/h) md(kg/s) H0 H1 hi hk mo kg/s mo kg/h

25 6,944444 3232,5 457,08 41000 0,86 0,546618 1967,825

md H2 H1 Qeco

6,944444 675,47 457,08 1516,597

6,944444 2497,337 675,47 12651,85

6,944444 3232,5 2497,337 5105,299

735,163

19273,75

6,944444 3232,5 457,08 19273,75

Ho=3232,5 kj/kg 
Hx=(h´(x*r) )=1008,4+(0,83*1793,9)=2497,34 
H1 (før eco)=457,08 
H2(efter ECO)=675,47 
 

𝑚𝑜 =
𝑝𝑘𝑒𝑑𝑒𝑙 

𝜂𝑘
∗
1

ℎ𝑖
 

𝑚𝑜 =
25 ∗ (3232,5 − 457,08) 

3,6 ∗ 0,86
∗

1

41000
 

𝑄𝑒𝑐𝑜 = 𝑚𝑑 ∗ Δℎ𝐸𝑐𝑜 
𝑄𝑒𝑐𝑜 = 6,944 ∗ (675,47 − 457,08) 

𝑄𝑓𝑜𝑟𝑑 = 𝑚𝑑 ∗ (ℎ𝑥 − ℎ2) 

𝑄𝑂𝐻 = 𝑚𝑑 ∗ (𝐻𝑜 − 𝐻𝑥) 

𝑄𝐾𝑒𝑑𝑒𝑙 = 𝑚𝑑 ∗ (𝐻𝑜 − 𝐻𝑓) 


